BEX RENERE

PRk 27T43 H 31 H BIE
—EAEFEN B ARE RS (BT 1)
(AN — LSS BEFEMTE A0 IR & KEIHR AR S NEBERS | T 2= A F
I EEDE
1. RENEE
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BEEES 20, 030, 000 0 0 0 0 0 20, 030, 000
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ZOMBEEEESF 551, 617 0 99, 667 0 0 0 651, 284
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AFEAE 25, 910, 087 991, 728 0 0 0 3, 000, 000 -3, 991, 728 25,910, 087
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BEEWMESE 0 0 0 0 0 0 0
2. —HRIEBRELE 43,977, 462 7,958, 242 2,531,219 0 0 0 54, 466, 923
R ESE 43,977, 462 7, 958, 242 2,531,219 54, 466, 923
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ZRASE [1, 404, 000] [o] [o] [o] (0] [0] [1, 404, 000]
TR [46, 299, 000] [o] [o] fo] [o] [o] [46, 299, 000]
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RSN F 0 0 0 0 0 0 0
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— I ERRM PE T TR 35, 980, 435 8, 949, 396 1,915, 992 0 379, 889 0 47, 225, 712
—IERR M PE AR TR 43,977, 462 7,958, 242 2,531, 219 0 0 0 54, 466, 923
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